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1) X+2 7) X + 2
1) X+6 7) X + 5

X+2 X + 81 X2 + 10X + 16
X + 6 X + 31 X2 + 8X + 15x X+2 _(X2 + 8X) x X + 6 _(X2 + 3X)2X + 4 2X + 16

6X + 36 5X + 15X2 + 2X -(2X + 16)
X2 + 6X -(5X + 15)X2 + 4X + 4 0

X2 + 12X + 36 0

2) X+3
2) X+7

X+3 8) X + 7
X + 7 8) X + 5x X+3 X + 31 X2 + 1OX + 21 x X+ 7 X + 41 X2 + 9X + 203X + 9 _(X2 + 3X)

7X + 49 _(X2 + 4X)X2 + 3X 7X + 21 X2 + 7X
5X + 20X2+6X+9 -(7X + 222-

X2 + 14X + 49 -(5X + 20)
0

0

3) X+5
3) 2X + 1

X+ 5
2X + 1X X+ 5 9) 2X + 1

X 2X + 1
9) X+35X + 25 X + 31 2X2 + 7X + 3

2X + 1 X - 21 X2 + X - 6X2 + 5X -(2X2 + 6X) 4X2 + 2X _(X2 - 2X)X2 + 10X + 25 X+3
4X2 + 4X + 1 3X -6-(X+~

-(3X - 6)
0

0Check
Check4) X+2 X + 2 4) X + 7

X+ 7X + 31 X2 + 5X + 6 x X + 3
x+3Ix2+10x+21 x X + 3_(X2 + 3X) 3X + 6

10) X2 + 5X + 7 _(X2 + 3X) 3X + 21
10) X2 - 3X + 52X + 6 X2 + 2X X + 41 X3 + 9X2 + 27X + 28 7X + 21 X2 + 7X

X - 21 X3 - 5X2 + 11 X - 10-(2X+L X2 + 5X + 6 _(X3 + 4X2) -(7X + 21) X2 + 10X + 21 _(X3 - 2X2)0
5X2 + 27X 0

-3X2 + 11X_(5X2 + 20X)
_(-3X2 + 6X)

Continue to check by 7X + 28
5X -105) X + 6 R 6

-(7X + 28) 5) X + 5 Continue to check by
-(5X -10)X + 5 1 X2 + 11 X + 36 multiplying.

X + 2 1 X2 + 7X + 10 multiplying.
0

0
_(X2+~

_(X2 + 2X)
6X + 36

5X + 10-(6X + 3qL
-(5X + 10)

6
0

11 ) X2 + 3X + 9
11) X2 + 4X - 7 R 5X + 1 1 X3 + 4X2 + 12X + 9

X - 31 X3 + X2 - 19X + 26
6) X+ 4 _(X3 + X2)

6) X+6 _(X3 - 3X2)X + 31 X2 + 7X + 12 3X2 + 12X X + 1 1 X2 + 7X + 6 4X2 - 19X_(X2 + 3X) _(3X2 + 3X)
_(X2 + X) -(4X2 - 12X)

en4X + 12 9X + 9
6X + 6 -7X + 26 Q.-(4X+ 1~ -(9X + 9)
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7) X +4

8) X + 4
x X+ 4

4X + 16
X2 + 4X

X2 + 8X + 16

9) A(5)(-2)B(7)(-2)B(3)(-2)A4 =

A-10B-14B-6A4 = A-6B-20

10) B4A-1B2 = A-1B6

11) .879

12) 50

13) -16

14) 1-31 = 3

15) 5X2 + 7X + 5

16) 2X2 + 3X - 1

17) 2 x 2 x 2 X 3 X 3 X 3

18) addition and multiplication

19) 24+6=4hours
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24E 25A 25B

1) X+4 7) X+ 3 1) (X - 2)(X + 2) X+2 1) (X - 1)(X + 1) X+ 1
2X + 21 2X2 + 10X + 8 x X- 2 x X - 1

_(2X2+~ -2X - 4 -X - 1
8X + 8 8) X2 + 2X X2 +XX+3 --(8X + 8) x X+3 X2 4 X2

0 3X + 9
X2 + 3X 2) (X - 4)(X + 4) X + 4 2) (X - 6)(X + 6) X + 6
X2 + 6X + 9 x X - 4 X X- 6

2) 2X+2 -4X -16 -6X - 36
X X+4 X2 + 4X X2 + 6X---8X + 8

9) (22)3 = 26 X2 16 X2 - 36
2X2 + 2X

2X2 + 10X + 8 I 3) (X - 5)(X + 5) Continue to check by 3) (Y - 4)(Y + 4) Continue to check by
multiplying. multiplying.

10) X4'3Y-2'3X-3Y-5X1 = X1Oy-11 4) (Y - 12)(Y + 12) 4) (A - B)(A + B)

3) 3X - 2 5) (X - 10)(X + 10) 5) (A -7)(A + 7)
X + 413X2 + 10X - 8 11) (10)4 = (101)4

6) (B - 5)(B + 5)_(3X2 + 12X) I 6) (X - 9)(X + 9)

-2X - 8
I 7) (X - 7)(X + 7) 7) (Y - X)(Y + X)-(-2X-~ 12) 3A3B3 + 6A4B3 - 7A3B3 =

0 6A4B3 - 4A3B3

I
8) (X - 2)(X + 2)8) (X - 8)(X + 8)

13) 1.725
9) (A - 11)(A + 11) 9) (A - 12)(A + 12)4) 3X - 2

x X+4
I 4(X2 - y2) = 4(X - Y)(X + Y)12X - 8 10) (X - Y)(X + Y) 10)

14) 7,000
3X2 - 2X

1 11) (B - 2)(B + 2) 11) (B - 8)(B + 8)3X2 + 10X - 8

15) 3X2 + 5X -16 12) (X - 3)(X + 3) 12) (X - 9)(X + 9)

5) 2X + 4 R 3 13) 65 13) 57
2X - 514X2 - 2X -17

16) X2 + 6X + 4 65 53
-(4X2 -10X)

4225 3021
8X -17

-(8X - 20)

I 14) 35 14) 75- 17) 2x2x3x113 35 75
1 225 5625

6) 2X - 5 18) 2X
15) 48 15) 35x 2X + 4

42 358X - 20 --- --
4X2 -10X 19) 18.;. 9 = 2 hours
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en

4X2 - 2X - 20
16) 96 £16) 85 S.+3

85 94 o·- ::J4XL 2X - 17 20) 18 .;.3 = 6 hours --- --- C/)7225 9024
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